PRACTICE: TRIG. PUZZLE

| What do you get when you cross a crab and a math teacher? I

To find out, find the missing part of each triangle below using trigonometric ratios. (Round
answers to the nearest tenth where necessary.) Shade in the boxes containing the answers. The
unshaded boxes will spell out the answer to the riddle.
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TRIGONOMETRIC RATIOS

— Remember

A trigonometric ratio is a ratio between two sides ofa right triangle. Sine, cosine,
and tangent are the three basic ratios. They are abbreviated as sin, cos, and tan.
- The made-up name “soh cah toa” can help you memorize the three basic ratios.

. opposite - B ‘ opp. 3
= 1 = em—m— = =
sin hypotenuse leg sin A hyp. 5
adjacent opposite 3 S _adi. _ 4
€oS = Thypotenuse <A cos A = hyp. ~ 5
_ opposite c 4 A _opp. _ 3
tan = adjacent leg adjacent to A tan A = adj, ~ 4
Draw straight lines to match each trigonometric ratio to its value.
The uncrossed words will reveal a message.
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